



# Area Integral Means of Analytic Functions in the Unit Disk

Xiaohui Cui, Chunjie Wang, and Kehe Zhu

*Abstract.* For an analytic function  $f$  on the unit disk  $\mathbb{D}$ , we show that the  $L^2$  integral mean of  $f$  on  $c < |z| < r$  with respect to the weighted area measure  $(1 - |z|^2)^\alpha dA(z)$  is a logarithmically convex function of  $r$  on  $(c, 1)$ , where  $-3 \leq \alpha \leq 0$  and  $c \in [0, 1)$ . Moreover, the range  $[-3, 0]$  for  $\alpha$  is best possible. When  $c = 0$ , our arguments here also simplify the proof for several results we obtained in earlier papers.

## 1 Introduction

Let  $H(\mathbb{D})$  denote the space of all analytic functions in the unit disk  $\mathbb{D}$  of the complex plane  $\mathbb{C}$ . For any  $f \in H(\mathbb{D})$  and  $0 < p < \infty$ , the classical integral means of  $f$  are defined by

$$M_p(f, r) = \frac{1}{2\pi} \int_0^{2\pi} |f(re^{i\theta})|^p d\theta, \quad 0 \leq r < 1.$$

These integral means play a prominent role in classical analysis, especially in the theory of Hardy spaces. For example, the well-known Hardy convexity theorem asserts that  $M_p(f, r)$ , as a function of  $r$  on  $(0, 1)$ , is logarithmically convex. Logarithmic convexity here means that the function  $r \mapsto \log M_p(f, r)$  is convex in  $\log r$ . See [1] for an example.

In [9] Xiao and Zhu initiated the study of area integral means of  $f$  with respect to a family of weighted area measures on the unit disk. More specifically, for any real  $\alpha$  we consider the measure

$$dA_\alpha(z) = (1 - |z|^2)^\alpha dA(z),$$

where  $dA$  is the area measure on  $\mathbb{D}$ . Such measures are frequently used in the more recent theory of Bergman spaces; see [2, 3]. For  $f \in H(\mathbb{D})$  and  $0 < p < \infty$ , we consider the area integral means

$$M_{p,\alpha}(f, r) = \frac{\int_{|z|<r} |f(z)|^p dA_\alpha(z)}{\int_{|z|<r} dA_\alpha(z)}, \quad 0 < r < 1.$$

---

Received by the editors March 30, 2017; revised July 17, 2017.

Published electronically January 17, 2018.

Research of K. Zhu is partially supported by the China National Natural Science Foundation (Grant Number 11720101003), the Project of International Science and Technology Cooperation Innovation Platform in Universities in Guangdong Province (Grant Number 2014KJHZ007), and Shantou University (Grant Number NTF17009). Research of C. Wang is supported by the China National Natural Science Foundation (Grant Number 11671357).

AMS subject classification: 30H10, 30H20.

Keywords: logarithmic convexity, area integral mean, Bergman space, Hardy space.

It was shown in [6, 7] that, just like the classical integral means,  $M_{p,\alpha}(f, r)$  is also logarithmically convex on  $(0, 1)$  when  $-2 \leq \alpha \leq 0$ . Furthermore, if  $p = 2$ , then  $M_{2,\alpha}(f, r)$  is logarithmically convex on  $(0, 1)$  when  $-3 \leq \alpha \leq 0$ , and this range for  $\alpha$  is best possible. Despite the elegance of these results, the proofs in [6, 7] were very long and laborious. In a few instances we even had to use the computer algebra system Maple to help us with the computations.

In this paper we will present a new approach to the logarithmic convexity problem above, which not only yields a much-simplified proof for several results in [4–7] but also generalizes some of these results to the case where the area integral means are taken over the annuli  $c < |z| < r$ , where  $c \in [0, 1)$  is fixed. Our main result is the following theorem.

**Main Theorem** Suppose  $0 \leq c < 1$ ,  $-3 \leq \alpha \leq 0$ ,  $p = 2$ , and  $f \in H(\mathbb{D})$ . Then the function

$$r \mapsto M_{p,\alpha,c}(f, r) =: \frac{\int_{c < |z| < r} |f(z)|^p (1 - |z|^2)^\alpha dA(z)}{\int_{c < |z| < r} (1 - |z|^2)^\alpha dA(z)}$$

is logarithmically convex for  $r \in (c, 1)$ . Furthermore, the range  $[-3, 0]$  for the weight parameter  $\alpha$  is best possible.

Here we assume that  $f$  is analytic in the entire unit disk  $\mathbb{D}$ , although the integral means are taken over the annuli  $c < |z| < r$ ,  $r \in (c, 1)$ . In fact, we will give an example to show that the result above is false if the function  $f$  is only analytic on the annulus  $c < |z| < 1$ . See [4, 5, 8] for recent work about integral means of analytic functions on the complex plane with respect to Gaussian measures.

Throughout the paper we use the symbol  $=:$  whenever a new notation is being introduced. We will use the notation  $A \sim B$  to mean that  $A$  and  $B$  have the same sign, which is different from the meaning of this notation in most papers in the literature. Since our main concern will be the sign of various quantities, this new use of  $A \sim B$  will significantly simplify our presentation.

## 2 Preliminaries

In this section we collect several preliminary results that will be needed for the proof of our main theorem.

Lemmas 2.1, 2.2, and 2.3 were stated and proved in [6, 7] for the interval  $(0, 1)$ . But it is clear that the conclusions still hold if  $(0, 1)$  is replaced by any interval  $(a, b)$ , where  $0 \leq a < b < \infty$ .

**Lemma 2.1** Suppose that  $f$  is positive and twice differentiable on  $(a, b)$ . Then

- (i)  $f(x)$  is convex in  $\log x$  if and only if  $f(x^2)$  is convex in  $\log x$ ;
- (ii)  $\log f(x)$  is convex in  $\log x$  if and only if

$$D(f(x)) =: \frac{f'(x)}{f(x)} + x \frac{f''(x)}{f(x)} - x \left( \frac{f'(x)}{f(x)} \right)^2 \geq 0$$

for all  $x \in (a, b)$ .

**Lemma 2.2** Suppose that  $f = f_1/f_2$  is a quotient of two positive and twice differentiable functions on  $(a, b)$ . Then

$$D(f(x)) = D(f_1(x)) - D(f_2(x))$$

for  $x \in (a, b)$ . Consequently,  $\log f(x)$  is convex in  $\log x$  if and only if

$$D(f_1(x)) - D(f_2(x)) \geq 0$$

on  $(a, b)$ .

**Lemma 2.3** Suppose  $\{h_k(x)\}$  is a sequence of positive and twice differentiable functions on  $(a, b)$  such that the function  $H(x) = \sum_{k=0}^{\infty} h_k(x)$  is also twice differentiable on  $(a, b)$ . If for each  $k$  the function  $\log h_k(x)$  is convex in  $\log x$  for  $x \in (a, b)$ , then  $\log H(x)$  is also convex in  $\log x$  for  $x \in (a, b)$ .

For the remainder of the paper we will fix a constant  $c \in [0, 1)$  and consider weighted area integral means  $M_{p,\alpha,c}(f, r)$  of analytic functions for  $r \in (c, 1)$ . Since  $M_{p,\alpha,c}(f, r)$  is a quotient of two positive and twice-differentiable functions, Lemma 2.2 tells us that the logarithmic convexity of  $M_{p,\alpha,c}(f, r)$  means the numerator of  $M_{p,\alpha,c}(f, r)$  must “dominate” the denominator after we apply the second-order (non-linear) differential operator  $D$  defined in Lemma 2.1.

We begin with the denominator, which, by polar coordinates, equals

$$2\pi \int_c^r (1 - t^2)^\alpha t \, dt = \pi \int_{c^2}^{r^2} (1 - t)^\alpha \, dt.$$

To simplify notation, we let  $x = r^2$ ,  $x_0 = c^2$ , and

$$\varphi = \varphi(x) = \int_{x_0}^x \varphi'(t) \, dt, \quad \varphi' = \varphi'(x) = (1 - x)^\alpha,$$

where  $x_0 < x < 1$ . By Lemma 2.1, we can work with the variable  $x$  on the interval  $(x_0, 1)$  instead of  $r$  on the interval  $(c, 1)$ . Let us also write

$$D = D(\varphi(x)) = \frac{\varphi'}{\varphi} \left( 1 + x \frac{\varphi''}{\varphi'} - x \frac{\varphi'}{\varphi} \right),$$

and

$$(2.1) \quad D_1 = D(\varphi'(x)) = \frac{\varphi''}{\varphi'} \left( 1 + x \frac{\varphi'''}{\varphi''} - x \frac{\varphi''}{\varphi'} \right) = \frac{-\alpha}{(1-x)^2}.$$

It is elementary to check that the derivative of  $D$  can be written as

$$(2.2) \quad \begin{aligned} D' &= \left( \frac{\varphi''}{\varphi'} - \frac{\varphi'}{\varphi} \right) \frac{\varphi'}{\varphi} \cdot \left( 1 + x \frac{\varphi''}{\varphi'} - x \frac{\varphi'}{\varphi} \right) + \frac{\varphi'}{\varphi} (D_1 - D) \\ &= \frac{\varphi''}{\varphi'} D + \frac{\varphi'}{\varphi} (D_1 - 2D). \end{aligned}$$

A key step for us in the proof of the main theorem is the following estimates for  $D$  and  $D_1$ .

**Lemma 2.4** For  $x \in (x_0, 1)$ , we have  $D_1 \geq 2D$  when  $-2 \leq \alpha < 0$  and  $D_1 \geq \alpha D / (\alpha + 1)$  when  $\alpha < -2$ .

**Proof** Let  $\sigma$  be a positive constant. Then  $D_1 - \sigma D \geq 0$  is equivalent to  $g(x) \geq 0$ , where

$$g(x) = \frac{\varphi^2}{\varphi'}(D_1 - \sigma D) = \frac{\varphi^2}{\varphi'}D_1 - \sigma\varphi\left(1 + x\frac{\varphi''}{\varphi'}\right) + \sigma x\varphi'.$$

Since  $D_1$  and  $\varphi$  are both positive for  $\alpha < 0$ , we have

$$g'(x) = D_1'\frac{\varphi^2}{\varphi'} + 2\varphi D_1 - D_1\frac{\varphi^2\varphi''}{(\varphi')^2} - \sigma\varphi D_1 \sim \frac{\varphi}{\varphi'}\left(\frac{D_1'}{D_1} - \frac{\varphi''}{\varphi'}\right) + 2 - \sigma.$$

From  $D_1 = -\alpha/(1-x)^2$  and  $\varphi' = (1-x)^\alpha$  we deduce that

$$\frac{D_1'}{D_1} - \frac{\varphi''}{\varphi'} = \frac{\alpha + 2}{1-x}.$$

Thus,

$$\begin{aligned} g'(x) &\sim \frac{\alpha + 2}{1-x} \frac{\varphi}{\varphi'} + 2 - \sigma \sim (\alpha + 2)\varphi + (2 - \sigma)(1-x)^{\alpha+1} \\ &= [(\alpha + 2) - (2 - \sigma)(\alpha + 1)]\varphi + (2 - \sigma)(1-x_0)^{\alpha+1} \end{aligned}$$

for  $\alpha < 0$ .

If  $-2 \leq \alpha < 0$  and  $\sigma = 2$ , we clearly have  $g'(x) \geq 0$ . Similarly, if  $\alpha < -2$  and  $\sigma = \alpha/(\alpha + 1)$ , we also have  $g'(x) \geq 0$ . In both cases, we then have  $g(x) \geq g(x_0) = \sigma x_0(1-x_0)^\alpha \geq 0$ . ■

### 3 Proof of the Main Theorem

By Lemma 2.3, we can reduce the proof of the main theorem to the case of (non-constant) monomials. Thus, we consider the function

$$M(x) = M_2(z^n, \sqrt{x}) = x^n,$$

where  $n$  is a positive integer. Mimicking what we did for the denominator of  $M_{p,\alpha,c}(f, r)$  in the previous section, we consider the numerator of  $M_{2,\alpha,c}(f, r)$  in the special case of a monomial and write it as

$$h = h(x) = \int_{x_0}^x M(t)\varphi'(t)dt, \quad x \in (x_0, 1).$$

We easily verify that

$$h' = M\varphi', \quad h'' = M\varphi'' + M'\varphi',$$

and

$$(3.1) \quad \frac{h''}{h'} = \frac{M'}{M} + \frac{\varphi''}{\varphi'}.$$

**Lemma 3.1** Suppose  $\alpha < 0$ ,  $n > 0$ , and  $x \in (x_0, 1)$ . Then

$$x\frac{h'}{h} - x\frac{\varphi'}{\varphi} - \frac{1}{2}n \geq 0.$$

If we also have  $-(n + 2) \leq \alpha < -2$ , then

$$x\frac{h'}{h} - x\frac{\varphi'}{\varphi} - \frac{\alpha + 1}{\alpha + 2}n \leq 0.$$

**Proof** Let  $\sigma$  be a positive constant and consider the function

$$G(x) = \frac{xh'}{x\frac{\varphi'}{\sigma} + \sigma n} - h.$$

It follows from direct computations that

$$\begin{aligned} G'(x) &= \frac{h' + xh''}{x\frac{\varphi'}{\sigma} + \sigma n} - \frac{xh'D}{\left(x\frac{\varphi'}{\sigma} + \sigma n\right)^2} - h' \\ &\sim \left(1 + x\frac{h''}{h'}\right)\left(x\frac{\varphi'}{\sigma} + \sigma n\right) - xD - \left(x\frac{\varphi'}{\sigma} + \sigma n\right)^2 \\ &= \left(1 + x\frac{\varphi''}{\varphi'} - x\frac{\varphi'}{\varphi} + (1 - \sigma)n\right)\left(x\frac{\varphi'}{\sigma} + \sigma n\right) - xD \\ &\sim 1 + (1 - \sigma)n + x\frac{\varphi''}{\varphi'} + \left(\frac{1}{\sigma} - 2\right)x\frac{\varphi'}{\varphi} =: G_1(x). \end{aligned}$$

For  $\alpha < 0$  and  $\sigma = 1/2$ , we clearly have

$$G'(x) \sim G_1(x) = 1 + \frac{n}{2} - \frac{\alpha x}{1 - x} \geq 0,$$

which gives  $G(x) \geq G(x_0) = 0$ , or

$$x\frac{h'}{h} - x\frac{\varphi'}{\varphi} - \frac{1}{2}n \geq 0.$$

If  $-(n + 2) \leq \alpha < -2$  and  $\sigma = (\alpha + 1)/(\alpha + 2)$ , we have

$$\begin{aligned} G_1(x) &= \frac{n + \alpha + 2}{\alpha + 2} + x\frac{\varphi''}{\varphi'} - \frac{\alpha}{\alpha + 1}x\frac{\varphi'}{\varphi} \\ &\leq x\frac{\varphi''}{\varphi'} - \frac{\alpha}{\alpha + 1}x\frac{\varphi'}{\varphi} \sim -(\alpha + 1)\varphi - (1 - x)^{\alpha+1} \\ &= -(1 - x_0)^{\alpha+1} \leq 0. \end{aligned}$$

Thus,  $G'(x) \leq 0$  and  $G(x) \leq G(x_0) = 0$ , or

$$x\frac{h'}{h} - x\frac{\varphi'}{\varphi} - \frac{\alpha + 1}{\alpha + 2}n \leq 0.$$

This completes the proof of the lemma. ■

We can now prove the main result of the paper, which we restate as follows.

**Theorem 3.2** *Suppose  $0 \leq c < 1$ ,  $-3 \leq \alpha \leq 0$ , and  $f \in H(\mathbb{D})$ . Then the function  $M_{2,\alpha,c}(f, r)$  is logarithmically convex for  $r \in (c, 1)$ . Furthermore, the range  $[-3, 0]$  for the weight parameter  $\alpha$  is best possible.*

**Proof** By Lemma 2.3, we just need to consider the case where  $f(z) = z^n$  is a non-constant monomial. Also, by Lemma 2.1, we can use the variable  $x = r^2$  instead of  $r$ . Thus, the proof will be completed if we can prove the logarithmic convexity of the function  $h(x)/\varphi(x)$ , where  $h$  and  $\varphi$  are the functions used in Lemmas 2.4 and 3.1.

This will be accomplished, according to Lemma 2.2, if we can show that  $\Delta(x) \geq 0$  for  $x \in (x_0, 1)$ , where

$$\begin{aligned} \Delta(x) &= D(h(x)) - D(\varphi(x)) \\ &= \frac{h'}{h} + x \frac{h''}{h} - x \left(\frac{h'}{h}\right)^2 - \left[ \frac{\varphi'}{\varphi} + x \frac{\varphi''}{\varphi} - x \left(\frac{\varphi'}{\varphi}\right)^2 \right] \\ &\sim h \left(1 + x \frac{h''}{h'}\right) - xh' - \frac{h^2}{h'} D =: \delta(x). \end{aligned}$$

It follows from direct computations that

$$\begin{aligned} \delta'(x) &= h \left( \frac{h'''}{h'} + x \frac{h''''}{h'} - x \left(\frac{h''}{h'}\right)^2 \right) - 2hD - h^2 \left( \frac{D'}{h'} - \frac{h''D}{(h')^2} \right) \\ &= hD(h') - 2hD - h^2 \left( \frac{D'}{h'} - \frac{h''D}{(h')^2} \right). \end{aligned}$$

Since  $h' = M\varphi'$ , it follows from Lemma 2.2 that

$$D(h') = D(M) + D(\varphi').$$

It is easy to check that  $D(M) = 0$ , so  $D(h') = D(\varphi') = D_1$ . Thus,

$$\delta'(x) = h(D_1 - 2D) - \left( \frac{D'}{h'} - \frac{h''D}{(h')^2} \right) h^2 \sim x \frac{h'}{h} (D_1 - 2D) - x \left( D' - \frac{h''}{h'} D \right).$$

Combining this with (2.2) and (3.1), we obtain

$$(3.2) \quad \delta'(x) \sim \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} \right) (D_1 - 2D) + x \frac{M'}{M} D.$$

Since  $xM'/M = n$ , we have

$$\begin{aligned} \delta'(x) &\sim \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} \right) (D_1 - 2D) + nD \\ &= \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} - \frac{1}{2}n \right) (D_1 - 2D) + \frac{1}{2}nD_1. \end{aligned}$$

By (2.1),  $D_1 > 0$  for  $\alpha < 0$ . Therefore,

$$\delta'(x) \sim \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} - \frac{1}{2}n \right) \left( 1 - 2 \frac{D}{D_1} \right) + \frac{1}{2}n =: \delta_1(x).$$

It is easy to check that

$$\lim_{x \rightarrow x_0} \frac{h}{\varphi} = M(x_0) = x_0^n.$$

By the definition of  $\delta(x)$  and  $D$ , we have

$$\delta(x) = h \left( 1 + x \frac{h''}{h'} \right) - xh' - \left( \frac{h}{\varphi} \right)^2 \frac{\varphi'}{h'} \left( \varphi + \frac{x\varphi\varphi''}{\varphi'} - x\varphi' \right).$$

Since

$$\begin{aligned} \lim_{x \rightarrow x_0} h \left( 1 + x \frac{h''}{h'} \right) &= 0, \\ \lim_{x \rightarrow x_0} \left( \frac{h}{\varphi} \right)^2 \frac{\varphi'}{h'} \left( \varphi + \frac{x\varphi\varphi''}{\varphi'} \right) &= 0, \end{aligned}$$

we obtain

$$\begin{aligned} \delta(x_0) &= \lim_{x \rightarrow x_0} \left( -xh' + \left( \frac{h}{\varphi} \right)^2 \frac{x(\varphi')^2}{h'} \right) \\ &= -x_0^{n+1}(1-x_0)^\alpha + x_0^{2n} \frac{x_0(1-x_0)^{2\alpha}}{x_0^n(1-x_0)^\alpha} = 0 \end{aligned}$$

whenever  $x_0 = c^2 > 0$ . It is easy to see that  $\delta(x_0) = 0$  is valid for  $x_0 = 0$  as well.

If  $-2 \leq \alpha < 0$ , it follows from Lemmas 2.4 and 3.1 that  $\delta_1(x) \geq 0$ . So  $\delta'(x) \geq 0$ ,  $\delta(x) \geq \delta(x_0) = 0$ , and  $\Delta(x) \geq 0$ .

If  $-3 \leq \alpha < -2$ , it follows from Lemmas 2.4 and 3.1 that

$$\begin{aligned} \delta_1 &\geq \left( 1 - 2 \frac{\alpha + 1}{\alpha} \right) \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} - \frac{1}{2}n \right) + \frac{1}{2}n \\ &= -\frac{\alpha + 2}{\alpha} \left( x \frac{h'}{h} - x \frac{\varphi'}{\varphi} - \frac{\alpha + 1}{\alpha + 2}n \right) \geq 0. \end{aligned}$$

Hence  $\delta'(x) \geq 0$ ,  $\delta(x) \geq \delta(x_0) = 0$ , and  $\Delta(x) \geq 0$ .

Finally, suppose that  $\alpha \notin [-3, 0]$ . It follows from the proof in [7] that  $\Delta(x) < 0$  for certain monomial  $z^k$  and  $x$  sufficiently close to 1. This shows that the range  $[-3, 0]$  for  $\alpha$  is best possible. ■

#### 4 Further Remarks

Note that our main theorem is proved under the assumption that the function  $f$  is analytic on the whole unit disk  $\mathbb{D}$ . It is natural to ask if the result remains true when the function  $f$  is only analytic on the annulus  $c < |z| < 1$ . We show by an example that the answer is negative.

Consider the case where  $\alpha = -1$ ,  $f(z) = \frac{1}{z}$ , and  $c > 0$ . It follows from a direct computation that

$$M_{2,-1,c} \left( \frac{1}{z}, r \right) = \frac{\log \frac{1-c^2}{1-r^2} + \log \frac{r^2}{c^2}}{\log \frac{1-c^2}{1-r^2}}.$$

As before, we let  $x_0 = c^2$  and  $x = r^2$ . Then by Lemma 2.2, we just need to consider the logarithmical convexity of the function

$$H(x) = \frac{\log \frac{1-x_0}{1-x} + \log \frac{x}{x_0}}{\log \frac{1-x_0}{1-x}}.$$

By direct computations,  $D(H(x))$  is the product of

$$\frac{1}{x(1-x)^2 \left( \log \frac{x}{x_0} + \log \frac{1-x_0}{1-x} \right)^2} \quad \text{and} \quad \left( x + \frac{x \log \frac{x}{x_0}}{\log \frac{1-x_0}{1-x}} \right) \left( x + \frac{x \log \frac{x}{x_0}}{\log \frac{1-x_0}{1-x}} - \log \frac{x}{x_0} \right) - 1.$$

We denote the last expression above by  $g(x)$ , which shares the same sign as  $D(H(x))$ , and observe that

$$\lim_{x \rightarrow 1} g(x) = -\log \frac{1}{x_0} < 0.$$

This implies that  $\log H(x)$  is not convex in  $\log x$  for  $x \in (c, 1)$ .

Our analysis in the previous two sections is perfectly fine if  $x_0 = c^2 = 0$ . Thus, we obtain the main result in [7] as a special case.

Our approach here also yields a new and easier proof for the main result in [6], although it does not generalize the main theorem in [6] to the case of integral means over annuli  $c < |z| < r$  when  $c > 0$ . In fact, if  $c = 0$  and  $-2 \leq \alpha \leq 0$ , then  $D_1 - 2D \geq 0$  and

$$D = D(\varphi(x)) = \frac{(\varphi - x)\varphi'}{(1-x)\varphi^2} \geq 0.$$

Furthermore, for the more general

$$M = M(x) = \frac{1}{2\pi} \int_0^{2\pi} |f(\sqrt{x} e^{i\theta})|^p d\theta$$

and

$$h = h(x) = \int_0^x M(t)\varphi'(t) dt,$$

we have

$$\frac{h'}{h} - \frac{\varphi'}{\varphi} = \frac{\varphi'}{h\varphi} (M\varphi - h) = \frac{\varphi'}{h\varphi} \left( \int_0^x (M(x) - M(t))\varphi'(t) dt \right).$$

Since  $M(x)$  and  $M'(x)$  are both positive (so  $M(x)$  is increasing on  $(0, 1)$ ), it follows from these facts and (3.2) that  $\delta'(x) > 0$  on  $(0, 1)$ . It can be checked that  $\delta(0) = 0$  in the general case as well. Thus,  $\delta(x) > \delta(0) = 0$  for all  $x \in (0, 1)$ . This implies that  $\Delta(x) > 0$  on  $(0, 1)$ , which proves that  $M_{p,\alpha}(f, r) = M_{p,\alpha,0}(f, r)$  is logarithmically convex for all  $0 < p < \infty$  and  $-2 \leq \alpha \leq 0$ .

Finally, we mention that the new method introduced in the paper can also be used to simplify some of the arguments in [4, 5]. In particular, the proof of [5, Theorem 1(ii)] can be simplified. Details are omitted here.

## References

- [1] P. Duren, *Theory of  $H^p$  spaces*. Pure and Applied Mathematics, 30, Academic Press, New York-London, 1970.
- [2] P. Duren and A. Schuster, *Bergman spaces*. Mathematical Surveys and Monographs, American Mathematical Society, Providence, RI, 2005. <http://dx.doi.org/10.1090/surv/100>
- [3] H. Hedenmalm, B. Korenblum, and K. Zhu, *Theory of Bergman spaces*. Graduate Texts in Mathematics, 199, Springer-Verlag, New York, 2000. <http://dx.doi.org/10.1007/978-1-4612-0497-8>
- [4] C. Wang and J. Xiao, *Gaussian integral means of entire functions*. Complex Anal. Oper. Theory 8(2014), 1487–1505. <http://dx.doi.org/10.1007/s11785-013-0339-x>
- [5] ———, *Addendum to “Gaussian integral means of entire functions”*. Complex Anal. Oper. Theory 10(2016), 495–503. <http://dx.doi.org/10.1007/s11785-015-0447-x>
- [6] C. Wang, J. Xiao, and K. Zhu, *Logarithmic convexity of area integral means for analytic functions II*. J. Aust. Math. Soc. 98(2015), 117–128. <http://dx.doi.org/10.1017/S1446788714000457>
- [7] C. Wang and K. Zhu, *Logarithmic convexity of area integral means for analytic functions*. Math. Scand. 114(2014), 149–160. <http://dx.doi.org/10.7146/math.scand.a-16643>



- [8] J. Xiao and W. Xu, *Weighted integral means of mixed areas and lengths under holomorphic mappings*. *Anal. Theory Appl.* **30**(2014), 1–19.
- [9] J. Xiao and K. Zhu, *Volume integral means of holomorphic functions*. *Proc. Amer. Math. Soc.* **139**(2011), 1455–1465. <http://dx.doi.org/10.1090/S0002-9939-2010-10797-9>

*Department of Mathematics, Hebei University of Technology, Tianjin 300401, China*  
*e-mail:* [cxh\\_1124@126.com](mailto:cxh_1124@126.com) [wj@hebut.edu.cn](mailto:wj@hebut.edu.cn)

*Kehe Zhu, Department of Mathematics, Shantou University, Guangdong 515063, China*  
*e-mail:* [kzhu@math.albany.edu](mailto:kzhu@math.albany.edu)